
Chem 332
Spring 2013
HW #5
Due 10 AM March 11th, 2013

Name_________________________________

1. (10 points) Using any piece that contirbutes three or fewer carbons to the final product, outline a 
synthesis of A.

2. (10 points) Draw the structure of C, and the mechanism for its formation from B.

13C NMR:           
207.2, s
137.2, s
128.4, d (2)
127.9, d 
127.4, d (2)
109.1, s
79.1, d
74.4, d
73.6, t
71.2, t
46.6, t
31.3, q
27.3, q
27.1, q

1H NMR:                        
7.3, m, 5H
4.53, s, 2H
4.2, m, 1H
3.7, m, 1H
3.5, m, 2H
2.7, m, 2H
2.16, s, 3H
1.37, s, 6H

C

C16H22O4

A

3. (10 points) Which product would you expect from the reaction of D with E. Why?

IR: 2987, 2866, 1716, 1234 cm -1
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